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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� SHQJDUXK� RSLQL� DXGLW�� DXGLW� IHH�� SHUXEDKDQ�

PDQDMHPHQ�� GDQ� SURILWDELOLWDV� WHUKDGDS� SHUJDQWLDQ� .$3� XSJUDGH�� GRZQJUDGH�� GDQ�

VDPHJUDGH SDGD� SHUXVDKDDQ� SHPELD\DDQ� GL� ,QGRQHVLD�� 3HQHOLWLDQ� LQL� PHQMDGLNDQ�

SHUXVDKDDQ� SHPELD\DDQ� \DQJ� WHUGDIWDU� SDGD� %(,� VHEDJDL� SRSXODVL�� 3HULRGH� SHQHOLWLDQ�

GLODNXNDQ�VHODPD���WDKXQ�PXODL�GDUL����������� 6HOXUXK�GDWD�SDGD�SHQHOLWLDQ�LQL�GLRODK�

GHQJDQ�PHWRGH�DQDOLVLV� UHJUHVL� ORJLVWLN�PXOWLQRPLDO��'DUL�KDVLO�SHQHOLWLDQ� LQL�GLNHWDKXL�

EDKZD SDGD�SHUXVDKDDQ�SHPELD\DDQ�RSLQL�DXGLW��DXGLW� IHH��SHUXEDKDQ�PDQDMHPHQ��GDQ�

SURILWDELOLWDV� WLGDN�PHPLOLNL� SHQJDUXK� WHUKDGDS� SHUJDQWLDQ�.$3� XSJUDGH��GRZQJUDGH��

GDQ�VDPHJUDGH��

.DWD�.XQFL��3HUJDQWLDQ�.$3��2SLQL�$XGLW��$XGLW�)HH��3HUXEDKDQ�0DQDMHPHQ��
3URILWDELOLWDV�


